LA RESOLUTION DU PROBLEME

CLASSIFICATION ANGLO SAXONNE

. ... représentant le tout et :
Schéma... : ...de comparaison...
les parties...
Part-Part-Whole Part-Part-Whole and Comparison
...pour = Whole o A
I'addition et Part Part B = > e
T Difference
e Whole = Part + Part D'ifefence = A=l
Part = Whole — Part A = Difference + B
Whole=A +B
Equal parts of a whole Equal parts of a whole and comparison
..pour la . Whole . Part |. Difference . o
: . . ole
multiplication Part | Part | Part | Part Part | Part | Part | Part
et la division < B >
Whole = Number of parts x Part B = Number of parts in B x Part
Part = Whole + Number of parts Difference = B — Part
Number of parts = Whole = Part Whole = (1 + Number of Parts in B) x Part




